
Adding Money

Add the following amounts by partitioningAdd the following amounts by partitioning

Eg1 £1.25 + £2.20 + £2.34

= £5 + 70p + 9p

= £5.79

Eg2 £1.56 + £4.22 + £5.81

= £10 + 150p (£1.50) + 9p

= £11.59

1. £2.23 + £1.30 + £2.19 2.  £4.67 + £2.12 + £1.21

3 £5 14 + £1 21 + £2 65 4 £2 22 + £3 42 + £4 493. £5.14 + £1.21 + £2.65 4. £2.22 + £3.42 + £4. 49

5. £2.45 + £4.21 + £6.84 6. £2.34 + £6.71 + £1.23

7. £4.32 + £2.09 + £6.18 8. £4.78 + £2.32 + £5. 78

9. £2.32 + £1.65 + £8.67 10. £4.23 + £4.59 + £5.33

10. Challenge:   You have £10. How many different things can you buy from 
below? Make up 5 different listsbelow? Make up 5 different lists.

£1.56
£6.95 £4.95

£2.55 £4.95
spr1wk2les3a



Adding Money

Add the following amounts by partitioningAdd the following amounts by partitioning

Eg1 £1.25 + £2.20 + £2.34

= £5 + 70p + 9p

= £5.79

Eg2 £1.56 + £4.22 + £5.81

= £10 + 150p (£1.50) + 9p

= £11.59

1. £2.23 + £1.30 + £2.11 2.  £4.67 + £2.10 + £1.21

3 £5 04 + £1 21 + £2 66 4 £2 22 + £3 43 + £4 093. £5.04 + £1.21 + £2.66 4. £2.22 + £3.43 + £4. 09

5. £2.05 + £4.21 + £6.84 6. £2.34 + £6.71 + £1.23

7. £4.32 + £2.09 + £6.18 8. £4.78 + £2.32 + £5. 78

9. £2.32 + £1.65 + £8.67 10. £4.23 + £4.59 + £5.33

10. Challenge:   You have £10. How many different things can you buy from 
below? Make up 5 different listsbelow? Make up 5 different lists.

£1.50
£6.55 £4.95

£2.50 £4.95
spr1wk2les3ab



Adding Money

Add the following amounts by partitioningAdd the following amounts by partitioning

Eg1 £1.25 + £2.23 

= £3 + 40p + 8p

= £3.48

Eg2 £1.56 + £4.62 

= £5 + 110p (£1.10) + 8p

= £6.18

1. £2.23 + £1.30 2.  £4.67 + £2.10 

3. £5.04 + £1.22 4. £2.22 + £3.43

5 £2 05 + £6 84 6 £2 34 + £6 715. £2.05 + £6.84 6. £2.34 + £6.71

7. £4.32 + £6.18 8. £4.78 + £2.31

9. £2.59 + £8.67 10. £4.88 + £5.96

10. Challenge:   You have £1. How many different things can you buy from 
below? Make up 5 different lists.

30p
20p 80p

spr1wk2les3b

50p 55p



Addition

Add the following amounts by partitioningAdd the following amounts by partitioning

Eg1 £1.25 + £2.23 

= £3 + 40p + 8p

= £3.48

Eg2 £1.56 + £4.62 

= £5 + 110p (£1.10) + 8p

= £6.18

1. £2.20 + £1.30 2.  £1.60 + £2.10 

3. £5.04 + £1.02 4. £2.22 + £3.43

5. £2.05 + £6.84 6. £2.34 + £6.31

7. £4.32 + £6.12 8. £4.28 + £2.31

9. £2.09 + £8.17 10. £4.81 + £5.16

Challenge:   How many words can you think of that mean ‘add’?

spr1wk2les3a


